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1. Write the expanded form of the given number :526,682
(i) (5% 100000) + (2 x 10000) + (6 X 1000) + (6 x 100) + (7 x 10) + (2 x 1)

(ii) (5 x 100000) + (2 x 10000) + (6 x 1000) + (5 x 100) + (8 X 10) + (2 x 1)
(iii) (5 x 100000) + (2 x 10000) + (6 x 1000) + (6 X 100) + (8 X 10) + (2 X 1)
(iv) (5% 100000) + (2 x 10000) + (7 x 1000) + (6 x 100) + (8 x 10) + (2 x 1)
(v) (5% 100000) + (2 x 10000) + (6 x 1000) + (7 x 100) + (8 x 10) + (2 x 1)

Write the number for the given expanded form :
"(2 x 100000) + (8 x 10000) + (3 x 1000) + (9 x 100) + (4 x 10)"

(i) 2,84,940 (ii) 2,83,840 (iii) 2,84,040 (iv) 2,83,940 (v) 2,73,940

3. Which of the following numbers is divisible by 107?
(i) 1,302 (ii) 1,298 (iii) 1,299 (iv) 1,300 (v) 1,301

4. 5000 + 300 + 60 + 9=
(i) -4631 (ii) 5269 (iii)) 5379 (iv) 5369 (v) 5469

5. 8l6=
(i) 800+6 (ii) 800+10 (iii) 800+10+6 (iv) 10+6

6. 7000 + 500 + 30 + 2=
(i) 7,532 (ii) 6,532 (iii) 7,542 (iv) 7,432 (v) 8,532

7. 70000 + 5000 + 500 + 70 + 4=
(i) 75474 (ii) 74574 (iii) 75574 (iv) 75584 (v) 75674

8. Which of the following numbers is divisible by 107?
(i) 1,858 (ii) 1,862 (iii) 1,860 (iv) 1,859 (v) 1,861

9. 2,356=
(i) 2000+50+6 (ii) 2000+300+50 (iii) 300+50+6 (iv) 2000+300+6 (v) 2000+300+50+6

10. 783=
(i) 700+3 (ii) 700+80+3 (iii) 700+80 (iv) 80+3

11. 11,493=
(i) 10000+1000+90+3 (ii) 10000+400+90+3 (iii) 10000+1000+400+90+3 (iv) 10000+1000+400+3

(v) 1000+400+90+3
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Which of the following numbers is divisible by 5?

(iii) 8,875 (iv) 8,877 (v) 8,874

(i) 8,873 (ii) 8,876

2000 + 900 + 90 + 2=

(i) 3,992 (ii) 2,892

(ii)) 2,992 (iv) -7,008 (v) 3,092

Which of the following numbers is divisible by 37

(iii) 5,883 (iv) 5,885 (v) 5,881

(i) 5,884 (ii) 5,882

Which of the following numbers is divisible by 5?

(i) 9,868 (ii) 9,870

27,626 =

(i) 7000+600+20+6 (ii) 20000+7000+20+6 (iii)

(iii) 9,869 (iv) 9,872 (v) 9,871

(v) 20000+7000+600+6

Which of the following numbers is divisible by 57

(i) 1112 (ii) 1110 (iii)) 1111 (iv) 1109

(v) 1108

Which of the following numbers is divisible by 9?
(iii) 8,568 (iv) 8,570 (v) 8,569

(i) 8,567 (ii) 8,566

Write the expanded form of the given number :7,26,818

(i) (7 x 100000) + (2 x 10000) + (6 x 1000) + (7 x 100) + (1 x 10) + (8 x 1)

(ii) (7 x 100000) + (2 x 10000) + (6 X 1000) + (9 x 100) + (1 x 10) + (8 x 1)

(iii) (7 x 100000) + (2 x 10000) + (5 x 1000) + (8 X 100) + (1 x 10) + (8 x 1)

(iv) (7 x 100000) + (3 x 10000) + (6 x 1000) + (8 x 100) + (1 x 10) + (8 x 1)

(v) (7 x 100000) + (2 x 10000) + (6 x 1000) + (8 x 100) + (1 X 10) + (8 x 1)

Which of the following numbers is divisible by 9?

(ii)) 3,391 (iv) 3,392 (v) 3,395

(i) 3,393 (ii) 3,394

Which of the following numbers is divisible by 37

(i) 4,382 (ii) 4,

383

(iii) 4,381 (iv) 4,385 (v) 4,384

Which of the following numbers is divisible by 9?

(i) 4312 (ii) 4310 (iii) 4311 (iv) 4309

(v) 4313

Write the number for the given expanded form :

"(6 X 100000) + (6 X 1000) + (6 X 100) + (8 X 10) + (7 x 1)"

(i) 606787 (ii)

596687 (iii) 606687 (iv)

606587 (v) 607687

Which of the following numbers is divisible by 37

(i) 5920 (ii) 5924

6,444 =
(i) 6000+40+4

(if)

(iii) 5921 (iv) 5923

6000+400+40 (iii)

(v) 5922

400+40+4

(iv)

6000+400+4

(v)

20000+7000+600+20+6 (iv) 20000+600+20+6

6000+400+40+4



Assignment Key

1) (iii) 2) (iv) 3) (iv) 4) (iv) 5) (iii) 6) (i)
7) (iii) 8) (iii) 9) (v) 10) (ii) 11) (iii) 12) (iii)
13) (iii) 14) (iii) 15) (ii) 16) (iii) 17) (ii) 18) (iii)
19) (v) 20) (i) 21) (ii) 22) (iii) 23) (iii) 24) (v)
25) (v)
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